## HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

NO.SD-111-CB-Tender/2024-25- 8852 To Dated: - 13 9 24

The Executive Engineer(IT Cell) Nigam Vihar,Shimla-2

Subject -

Short Term Tender Notice

Enclosed kindly find herewith the tender notice for the various works as given in the notice inviting tender for uploading on department website as per notification of Principal Secretary (PW) to the Govt. of HP vide letter No.PBW(B)A(3)1/2020 dated 16<sup>th</sup> July,2021 as the works mentioned in the notice inviting tender are urgent/emergent nature of works in public interest.

Encl:- as above

Executive Engineer, Shimla Division No-III, HP.PWD.Shimla 3

## HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

Sealed percentage rate tenders on form No. 6&8 are hereby invited by the Executive Engineer, Shimla Division No. III, HP.PWD. Shimla-3 on behalf of the Governor of H.P. for the following works from the eligible Contractors/Firms enlisted in HP.PWD, so as to reach in his office on or before 17-09-2024 up to 1.30 P.M. and will be opened on the same day at 2.00 P.M. in the presence of the intending Contractors/Firms or their authorized representatives. The tender form can be had from his office against cash payment (non-refundable) on any working day up to 1.00 P.M. on 17-09-2024 and the application for issue of tender form shall be received up to 11.00 A.M. on 17-09-2024.

The earnest money in the shape of National saving Certificate/Time deposit account/saving account in any of the post office in HP, duly pledged in favour of Executive Engineer, Shimla Division No-III must accompany with the application form for the tender offer. Conditional tender and the tender received without earnest money will summarily be rejected. The Executive Engineer reserves the right to reject the tender without assigning any reason there to. Other conditions are applicable as perform No. 6&8. The offer shall remain open for 30 days.

Sr. No	Name of work	Estimated Cost in Rs.	Earnest Money in Rs.	Time	Form No	Cost of form
1	Special repair to PSA Plant at Kamla Nehru Hospital Shimla. (SH:- Demolition work, P/F rain water pipes & cement concrete in adjoining area PSA Plant and P/L 150mm PVC. Sewerage pipe line from MCH block to MC line towards PSA Plant side).	Rs.499360.00	Rs.9990.00	One Month	6&8	350/-

<sup>1.</sup> The contractor/firm shall have his GST No. and attested copy of the same be attached with the application for issue of tender form.

- 2. The contractor/firm should attach attested copy of registration/renewal.
- 3. Copy of PAN card be attached with the application form.

NO.SD-III-CB-Tender/2024-25- 8853 -68

Copy forwarded for the following for information and necessary action to:-

- The Engineer-in -Chief, HPPWD Nirman Bhawan, Nigam Vihar Shimla-2. ì.
- 2. The Chief Engineer (S) HPPWD Nirman Bhawan, Nigam Vihar, Shimla-2.
- The Superintending Engineers, 4th Circle HPPWD Shimla -3. 3.
- The Deputy Commissioner, Shimla Distt. Shimla. 4.
- The Sub-Divisional Magistrate (U) Shimla. 5.
- All the Assistant Engineers working under this Division. 6.
- All the heads of the branches in this office. 7.
- Notice board. 8.

Executive Engineer. Shimla Division No-III, HP.PWD.Shimla-3

Dated:- 17

Executive Engineer, Shimla Division No-III, 3-3 HP.PWD.Shim

## SCHEDULE OF QUANTITY

Estimated Cost Rs. :- 499360.00 Earnest Money Rs. :- 9990.00

Time:- One Month .

## Concrete in adjoining area PSA Plant and P/L 150mm PVC. Severage pipe line from MCH Block to MC. Line towards PSA Plant Side) Name of Work:-Special Repair to PSA Plant at Kamla Nehru Hospital Shimla(:- Demolition work, P/F rain water pipes & Cement

Sub head and items of work	-
Sqm	250.27 Sqm
CLM	63.62 cum
63.62 cum	
7.760 Cum.	30 Cum. 950.00
	In figure 150.00 850.00
Rate In words Rupees One Hundred Fifty Only Rupees Eight Hundred Fifty Only	
Rupees One Hundred Fifty Only Rupees Eight Hundred Fifty Only Rupees Nine Rupees Nine Rupees Nine Rupees Nine Hundred Fifty Only Rupees Nine Hundred Fifty Only Rupees Nine Ru	Unit Per Square metre Per Cubic mete

	Disposal of material by Mechanical means on approved dumping site of M.C. Shimla or on alranged by the contractor, i.e. through all mode of transportation including head load animal load or mechanical means alongwith transportation of the unuseful material for disposing including payment of prescribed charges of dumping to the owener of dumping site through all modes of transporation including head load animal load or mechanical means alongwith its levelling, fine dressing and to complete the work by mechanized means and labourlif any required) All useful materials such as stones, aggregate and slates shall be sorted out and stacked along roads side any loss of the public/private property during the courses of execution shall be the absolute responsibility of the contractor which shall have to be duilly compensated by him in all respect as per direction of Engineer-in-Charge	136.38	Cum.	750.00	Rupees Seven Hundred Fiffy Only	Per Cubic Meter	102285.00
9	Providing and fixing high pressure PVC (finolex) Type-A spigot and socket, waste and ventilating pipes ISI marked with collar and clamps including fixing with approved adhesive etc. complete. including carriage of materials within all leads and lifts:-110mm nominal size.	34.60		350.00	Rupees Three Hundred Fifty Only	Per running metre.	12110.00
10	Providing and fixing PVC finolex plain bend ISI marked including fixing with approved adhesive etc. complete including carriage of materials within all leads and lifts:- (i)110mm dia	9.00	No.	300.00	Rupees Three Hundred Only	Each	2700.00
11	Providing and fixing PVC (Finolex) 45 degree bend 110mm dia ISI marked including fixing with approved adhesive etc. complete including carriage of materials within all leads and lifts.	4.00	No	350.00	Rupees Three Hundred Fifty Only	Each	1400.00
12	Providing and fixing 110 mm dia PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc.complete including carriage of materials within all leads an lifts.	4.00	No	350.00	Rupees Three Hundred Fifty Only	Each	1400.00
13	Providing and fixing 110 mm dia PVC collars ISI marked including fixing with approved adhesive etc.complete including carriage of materials within all leads an lifts.	12.00	No	275.00	Rupees Two Hundred Seventy Five Only	Each	3300.00
14	Providing and fixing on wall face PVC Finolex type-B spigot, socket, waste and ventilating pipes of working pressure not less than 4.5 kg/sqm including coller and filling the joints with approved adhesive complete including carriage of materials within all leads and lifts (i) 150mm Dia	42.00	Rmt	780.00	Rupees Seven Hundred Eighty Only	Per Running Meter	32760.00
15	Providing and fixing PVC Finolex Door bend ISI marked complete including filling the joints with approved adhesive complete including carriage of materials within all leads and lifts.(i) 150mm Dia	5.00	Nos.	450.00	Rupees Four Hundred Fifty Only	Each	2250.00
16	Providing and fixing PVC Finolex collars ISI marked including fixing with approved adhesive etc. complete.including carriage of materials within all leads and lifts.(i) 150mm Dia	. 10.00	Nos,	350.00	Rupees Three Hundred Fifty Only	Each	3500.00 .
17	Providing and fixing 150 mm dia PVC Finolex Plain Bend ISI marked including fixing with approved adhesive etc. complete including carriage of materials within all leads and lifts.(I) 150mm Nominal Dia	10.00	Nos.	400.00	Rupees Four Hundred Only	Each	4000.00

			•	18
Conditions:-	Quoted rate in figures.		mortar 1:3 (1 cement : 3 coarse sand) finished with floating coat of neat cement and making channels in cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) finished with a floating coat of neat cement complete as per standard design : mside size 120x90 cm and 90 cm deep including C.I. cover with frame (heavy duty) 560 mm internal diameter, total weight of cover and frame to be not less than 208 kg (weight of cover 10S kg and weight of frame 100 kg). With common burnt clay F.P.S. (non modular) bricks of class designation 7.5 including carriage of material in all leads and lifts.	18 Constructing brick masonry manhale in cement mortar 1:4 (1 cement: 4 coarse sand) with R.C.C. top slab with 1:1.5:3 mix (1 cement: 1.5 coarse sand (zone- III): 3 graded stone aggregate 20 mm nominal size), foundation concrete 1:4:8 mix (1 cement: 4 coarse sand (zone III): 8 graded stone aggregate 40 mm nominal size), inside plastering 12 mm thick with cement
				2.15 No.
				16500.00
				Rupees Stateen Thousand Five Hundred Only
		Total		Each
		499360.00		33000.00

Rates should be quoted for all heights including all leads and lifts for internal and external works.

iii Sample of all Materials to be used on work Shall be got approved from the Engineer-in- charge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to bureau of Indian standards. Exerci materials will be handed over to the Assistant Engineer, Medical Sub Division No. II HPPWD, Shimla-1 otherwise credit for useful materials will be charged

Contractor Recovery of usefull bricks 940.00 No. recovered from site will be charged / deducted from contractor @ Rs. 5.00 Each. ,Gl Sheets 75.00.00 Sqm. @ 250.00 Per Sqaure Metre un-usefull Tor steel 1000.50 Kg. @ 18.00.00 Per kg will be deducted / Recoverd from the

MP. PWD. Shimla Shimla Division No. III, Executive Engineer,

Opened by me Cutting O.W. .....Condition .....Repack

E.E. 111